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Choose the correct alternatives:                                                                                                               1 x 15 =15 
1. According to occurrence, idle time can be classified into 
(a) four category; (b) three category; (c) two category; (d) none of these. 
2. Internal causes arises due to 
(a) internal conflict; (b) internal disagreement; (c) decision of the management; (d) none of these. 
3. Seasonal production is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
4. Idle time arises due to the  
(a) deficiency of the management; (b) deficiency of the workers; (c) deficiency of workers and 
management; (d) none of these. 
5. Management is the  
(a) part of administration; (b) not the part of administration; (c) part of government; (d) none of these. 
6. Machine break-down is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
7. Non-availability of materials is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
8. Time lost due to power failure is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
9. Time lost due to waiting for work is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
10. Time lost due to waiting for inputs is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
11. Time lost due to non-availability of skilled labour is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
12. Time lost due to non-availability of fuel is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
13. Time lost due to recession is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
14. Time lost due to waiting for instructions is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
15. Time lost due to accidents is under 
(a) external causes; (b) internal causes; (c) middle causes; (d) none of these. 
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